Subtraction

Q1.

Q2.

Q3.

Fill in the blanks:
a. 12 tens — 6 tens =
b. 5 hundreds — 100 =

c. 3476 - = 3476

d. 236 + =422

Solve:

a. 214 - 138 + 313
Answer:

b. 786 — 225 - 164
Answer:

Find the difference and check the answer:
8695 - 429
Difference: Checking:

Q4. I am 4 less than the largest 3 digit number. Who am I?

Answer:
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Q5.

Qeé.

Q7.

Q.

Q9.

The students of the class have written some questions to be solved by the class.
Solve and match the questions with the correct answer given in the stars.

608

Which number is 35 less than 743?

What should be added to 1745 to get
3459

L

The difference of two numbers is 347. If the bigger number is 7430, find the
other number.

Answer:

The sum of two numbers is 7998. If one number is 1274, what should be the
other number?

Answer:

I am 34 less than the smallest 4 digit number. Who am I?

Answer:

Complete the series:

2490, 2480, s )

Q10. Help the frog jump onto the leaf that has the answer to its question.

a. 30 less than the smallest
4 digit number.
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100 less than the greatest
3 digit number.

Q11. Solve and put the correct sign <, > or = in the blank:

a. 243 -10 253 - 20
b. 7890 - 0 7891 - 0
c. 2340 + 60 2500

Q12. The given table shows the sales of last five days of Ajay’s bakery shop. Study the
table carefully and answer the questions given below:

Day 1 500
Day 2 700
Day 3 960
Day 4 1200
Day 5 1400

a. How many more items were sold on Day 5 than Day 1?
Answer:

b. Find the difference between the items sold on Day 4 and Day 5.
Answer:

c. If Ajay would have sold 300 more items on Day 2, how much would be his
Day 2’ total sale?

Answer:

Copyright © 2017 Macmillan Publishers India Private Limited. All rights reserved.




Q13. The houses in Vani’s colony are in a sequence as shown below:

2304 2305 2306 2307

o)

H H

2308 2309 2310 2311

Vani’s house number is 2305. Rina’s house number is 2311.

Answer the questions given below:

a. How many houses are there between
Vani’s house and Rina’s house?

Answer: houses

b. How many houses would be there between
Vani’s house and House number 2301?

Answer: houses

2311

Q14. Hemant had 2645 stamps of different countries. He gave 968 stamps to Amit.
How many stamps does Hemant have now?

Answer: stamps

Q15. Shipra solved 34 sums on the first day of school and 49 sums on the second day.
estimate to what (eg. nearest 10) the difference in the number of sums solved in
the two days (to the nearest tens).

Answer: sums
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W e N e

11.
12.
13.
14.
15.

a. 60 b. 400

c. 0 d. 186
a. 389 b. 397
8 6 9 5 8 2 6 6
- 4 2 9 + 4 2 9
8 2 6 6 8 6 9 5
995
a. 708 b. 1714
7083
6724
966
2470, 2460, 2450
a. 970; b. 899
a. = b. < c. <
a. 900 items b. 200 items c. 1000 items
a. 5 houses b. 3 houses

1677 stamps
20
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